Trig 3.7 S ~ Quiz 3.4-3.6

Graph rational functions
Determine horizontal, vertical, slant asymptotes
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Determine the equations of the vertical and horizontal asymptotes, if any, of each

function. -
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Vertical asymptotes:
if denom =0

Horizontal asymptotes (degree):
- denom is higher y=0
- humerator = denominator y=their ratio
¥ denom is lower no HA
(could be slant asym)

Slant asymptotes: (degree)
¢ numerator > denominator by exactly 1

Special: repeated factors
Is there a point discontinuity (hole)?
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Determine the slant asymptote of each function.
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There are times when the numeratg, denominator of a rational function
share a common factor. Consider f(x) = _xg_ %) Since an x-value of 3 results
in a denominator of 0, you might expect there to be a vertical asymptote at x = 3.
However, x — 3 is a common factor of the numerator and denominator.
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12. y = ey Determine:
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! 9 Graph y =
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